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" · will be (~ . ueous solution ---.____ 1. The total (NH ) )Cl3 tn aq , number of ions produced from the comp@ [Cr 3 6 

f 

2. 
r 

(1) 2 Oc2) 3 
(3) 4 

(§)(4) 5 
Arran - . <1 l cules contained in: ge the following m decreasing order of number of mo e (A) 16gofo

2 
(B) 16 g of CO

2 ~ 

(C) 16 gofCO 
(D) 16 g of H2 

Choose the correct order from the options given b~w : 
(l) (A), (B), (C), (D) {} 
(2) (D), (C), (A), (B) _ @) 
(3) (B), (A), (D), (C). • <1 
(4) (C), (B), (D), (A) 

3. A molecule X associ~tes in a given solvent as per the following equation: 

4. 

r 

s. 
r 

For a given concentration of X, the van't Hoff f~r was found to be 0.80 and the fraction of associalt molecules was 0.3. The correct value of 'n' is : ; • (1) 2 . . 02) 3 
(3) l 

\}(4) 5 
The. oxidation number of Co in complex (Co(H21FH2NH2h)i(SO 4h is 
(1) 3 • 2) 4 • 
(3) 2 (4) 5 

ture of dipeptide, Gly-Ala (glycyl alanine) is The correct struc . . .. :_ 
11 

• • • 

H N - CH2 - CO - NH - CH(CH3) - COOR (1) 2 , CH - NH - CO - CH(CH3) - NH2 (2) aooc- 2 

H(CH )-NH-CO_-CH2 -NH2 aooc - , 3 
\ • • •• • " H )' c'o-NH-CH2-COOH =N-CH(C 3 -

H2 , . , . SPACE FOR ROUGH WORK·· 
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1
\urion ,, ill be __ '~ . qucous ~l 

1. The t t 1 [Cr(NH ')"]Cl 3 tn a 
1 ° 8 number of ions produced fron1 the comp~;i -

(1) 2 0(2) 3 
I 

2. 
r 

(3) 4 @)(4) 5 

Arra . . <] lccuks contained in : nge the fol\ow1ng 1n decreasing order of number of mo 
(A) 16 g of o

2 

(B) 16 g of CO
2 

(C) 16 g of CO en 
o6 

(D) 16 g of H2 

Choose the correct order from the options given b~~w: 
( l) (A), (B), (C), (D) {.} 

(2) (D), (C), (A), (B) ©) 
(3) (B), (A), (D), (C) • <l 
( 4) (C), (B), (D), (A) 

3. A n1olecule X associ.ates in a given solvent as per the following equation : 

<I) 
For a given concentration of X, the van't Hoff t~r was found to be 0.80 and the fraction of asso~in:: 
molecules was O .3. The correct value of • n • is : ; • 

(l) 2 02) 3 
(3) \ {,}(4) 5 

4. 

r 

The oxidation number of Co in complex [Co(H2~2CH2NH2)3]2(S04)3 is 

(I). 3 <l2) 4 
(4) 5 

(3) 2 
t re of dipeptide. Gly-Ala (glycyl nlanin~) is The correct struc u . . s. 

CH _ CO NI t -CH(Cl 13)- COOH 
r ( \) H2N 2 

H
ooe CH2 - NH -CO Cl l(Cll3) Nll2 

(2) 

H
ooe - eH(CH3) - NH co ('1 '2 N' 1.12 

(3) 
(~H(CH

3
)- CO- Nl I Cll2 COOH 

~)) ~H~2?N~~~~~--~~~;;~~wm--:---:--~-------___c.:_ SPACE FOR ROUGH WORK ,,; 
• • • f I 
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306 E/A . . 
1. The total ) ]Cl in aqueous I number of ions produced from the comp@ [Cr(NH3 6 3 

(I) 2 {)(2) 3 I (3) 4 ©)(4) 5 
2• Arrang th . . <J l 1 contained in : e e 10llow1ng 1n decreasing order of nutnber of mo ecu es r (A) 16 g ofo

2 

(B) 16 g of CO2 , 

(C) 16 g of CO tn-
(D) 16 g ofH2 • :g 

Choose the correct order from the options given b~w : 
(1) (A), (B), (C), (D) {) 
(2) (D), (C), (A), (B) . g 
(3) (B), (A), (D), (C). <l 
( 4) (C), (B), (D), (A) 

3. A molecule X associ_ates in a given solvent as per the following equation : 

4. 

r 

5. 

r 

u:3-For a given concentration of X, the van't Hoff f~r was found to be 0.80 and the fraction of associat molecules was 0.3. The correct value of 'n' is: ; • 
(1) 2 cf2) 3 
(3) ,1 0(4) 5 

The. oxidation number of Co in complex [Co(H2~2CH2NH2)3h(SO ,i}3 is 
• ~2) 4 

(1) 3 (4) 5 
(3) 2 

f dipeptide Gly-Ala (glycyl alanine) is The correct structure o ' . . • " -
CO - NH - CH(CH3) - COOH ( 1) H2N - CH2 - , 

NH - CO - CH(CH3) - NH2 HOOC-CH2-
(2) NH-CO-CH2 - NH2 aooc - cH(CH3) - , • , •• 

• I,· • CO _ NH _ CH2 - COOH • _ CH(CH3) - . H2N SPACE FOR ROUGH WORK 

f I -I • !I, ii 
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6. 

( 

7. 

8. 

9. 

10. 

' 

11. 

Th c ff> h d. of Cu atom is: e u metal crystallises into fee lattice with a uml)cell edge length of 361 pm. T e ra ius 
(1) 127 pm <jS(2) 181 pm 

(t: 

< ](4) 108 pm (3) 157 pm 

If 75o/c ij taken cor 50% completion of 0 of a first order reaction gets co1nplehrP1) in 32 minutes, time 1' 

this reaction is 

(1) 16 minutes 

(3) 8 minutes, 
78 minutes 

(4) 4 minutes 

Which of the following compounds will be repelled when placed in an external magnetic field ? 
(1) N½[CuC14] 

(3) K4[Fe(CN)6] 

<;1;3 (2) Na2[CdC14] 
Cl{~i 
c,~1 (4) K3[Fe(CN)6] 

'tf1 ....... , 
The spin only magnetic moment of Hexacyanido~~ganate(II) ion is _____ BM. ,,... 
(1) 5.90 1:f· (2) 1.73 
(3) 4.90 @) (4) 3.87 

The correct order of increasing boiling points of t;S following compounds is : 
Pentan-1-ol, n-Butane, Pentanal, Ethoxyethane 
(1) Ethoxyethane, Pentanal, n-Butane, Pentan-1-ol 
(2) Pentanal, n-Butane, Ethoxyethane, Pentan-l@J 
(3) n-Butane, Pentanal, Ethoxyethane, Pentan-1 ~f · 

(~ 
( 4) n-Butane, Ethoxyethane, Pentanal, Pentan- lQ~ . ......~ 

{~] 
In the following reaction, identify the product D. 

\,i 
Zn dust CH 3Cl + anW,)AICl 3 C6H5 -0H > A 

(1) o-Nitrobenzoic acid 

(2) p-Nitrobenzoic acid 
(3) o,p-Dinitrobenzoic acid 

(4) m-Nitrobenzoic acid 

SPACE FOR ROUGH WORK 

D 
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12. ( 4 ) }oW: The gold n b . • given be um er range of some of the lyophilic col101ds ts 
A.: ~-005 -o.01, B: 0.15 -0.25, C: 0.04- i.~d D: 15 - 25• 
Wluch a volf 1 . d ? tnong these can be used as a better prot1110tive col 01 • 
(I) A @) (2) B 
(3) C (J (4) D 

0 
13. Reaction _ofani.line with cone. HNO3 and conc~S04 at 298 K will produce 47% of 

(I) p-N1troantline 

(2) o-Nitroaniline 

(3) m-Nitroaniline 

( 4) 2,4-Dinitroaniline 
t/7 
oO 

14. What will be increasing order of basic strengthQII the following compounds ? 
C2HsNH2, (C2Hs)2NH, (C28 shN, ~5NH2 

15. 

16. 

(l) ~2H5NH2 < (C2H5)2NH < (C2H5)3N t}C6H5NH2 

(2) C6H5NH2 < C2H5NH2 < (C2H5)3N <@2H5)2NH 

(3) (C2H5)3N < (C2H5)iNH < C6HsNH2 ~ 2H5NH2 

(4) (C2H5)2NH < (C2H5)3N < C2H5NH2 < C6HsNH2 

Which of the following compounds will give Hell-Volhard-Zelinsky . reaction? 
(1) R-CH2-COOH o(j (2) R3C-CHQ oa 
(3) R2CO. @ (4) H-cooa 

a 
th £ llowing acids in increasing ordet;ttl.f their acid. -.Arrange e O w tc strengths . 

HCOOH, FCH2COOH, N02CH2CO<ll) ClCH2GOOH • 

FCH cOOH < N02CH2Coc5)i < ClCH (1) HCOOH < 2 2COOH 
< NO cH2COOH < CICH2COOH < FCH (2) HCOOH 2 2COOH 

cooH < HCOOH < CICH2COOH < FC}{ 
(3) NO2CH2 2COOH 

ClCH cooH < FCH2COOH < No C 
(4) HCOOH < 2 2 li2coo8 

SPACE FOR Rou;---------
H WORK~ 

I 

mE 

7. 

• 

I 



306 E/A ( 5 ) 
17. In th c. 11 • . . . . . • t rds nucleophilic addition e 10 owing compounds, what 1s the 1ncreas1ng order of their reactivity owa 

18. 

19. 

reactions? 

I (1) 
Benzaldehyde, p-Tolualdehyde, p-Nitrobenzaldehyde, Acetophenone 

Benzaldehyde < p-Tolualdehyde < p-Nitrobenzaldehyde < Acetophenone 

(2) Acetophenone < Benzaldehyde < p-Tolualdelde < p-Nitrobenzaldehyde 

(3) Acetophenone < p-Tolualdehyde < Benzalde~e < p-Nitrobenzaldehyde 

(4) Benzaldehyde < Acetophenone < p-TolualdJ@de < p-Nitrobenzaldehyde 

The Gatterman-Koch reaction is used in the inc@trial preparation ofbenzaldehyde. The electrophile 
involved in this reaction is @) 
(1) co+ 

(3) Hco+ 

~) HCl + CO2 + anhydrous A1Cl3 

(4) CO+ anhydrous A1Cl3 

Formaldehyde undergoes Cannizzaro reaction because 

(A) It has alpha-hydrogen atom. 
fl} 

(B) It does not have alpha-hydrogen atom. 0.0 
r (C) It does not undergo self-oxidation and reductif n heating with concentrated alkali. 

(D) It undergo self-oxidation and reduction on hea~ with cqncentrated alkali. 

Choose the correct answer from the options given bctn,w : 

(1) (B) and (D) only 

(3) (B) and (C) only 

(@) 

~) 

(A) and (C) only. 

(A) and (D) only ' 

20. In the reaction, (CH3)3C-O-CH3 Products 

CH3OH and (CH3)3CI are the products and not CH3I and (CH3)3C - OH. It is because, 

(A) in step 2 of the reaction the departure of leavin~up (HO - CH3) creates less stable carbocation. 

{B) in step 2 of the reaction the departure of leavina,roup (HO - CH3) creates more stable carbocation. 

(C) the reaction follows SNI mechanism. 

(D) the reaction follows SN.2 mechanism. 

@) 
0 
{:}. 

Choose the correct answer from the options given b@w : 

(1) {B) and (D) only (B) and (C) only 

(3) (A) and (D) only ( 4) (A) and (C) only 

S·PACE FOR ROUGH WORK 
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21. 

I 

( 6 ) 
Aniline doe snot undergo Friedel-Crafts reaction because 
(A)· It form 1 . s sat with the Lewis acid catalyst, AlCl3. 

(B) Nitrogen of anilin~ acquires negative charge. 

(C) Nitrogen of aniline acquires positive charge. 

(D) Nitrogen acts as a strong deactivating group in the further reaction. 

Choose·the correct answer from the options giveq)?flow: 

(l) (A), (B) and (D) only• of~ 
c~ 

(2) (A), (B) and (C) only , 

(3) (A), (C) and (D) only f 

(4) (B), (C) and (D) only 

7 

22. Although chlorine is an electron withdrawing ~~up, yet it is ortho- and para-directing in electrophilic 
aromatic substitution reaction because 

; 

23. 

I 

(A) Chlorine withdraws electrons through inductive effect. 

(B) Chlorine destabilises the intermediate carbof~ion formed during electrophilic substitution. 

( C) Chlorine accepts electr~ns through resonande~ 'f . . oa 
(D) Chlorine releases electrons through resonan@}J' 

• ,i,~,.i 
Choose the correct answer from the options givel\,.below : 

• ~'.} 
(1) (A), (B) and (D) only ~:.~, 

(2) (A), (B) and (C) only 

(3) (A), (C) and (D) only l 
(4) (B), (C) and (D) only l" 

In Etard reaction, the final product is 

( 1) Aromatic aldehyde • / 

(2) Aromatic chloride 

(3) Aromatic amine 

( 4) .Aromatic alcohol 
SPACE FOR ll_~UGH WORK -
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24. Match List-I with List-II: 

I 

List-I List-II 

(A) Amino acids linked in a specific (I) Primary structure of proteins 
sequence 

(B) Regular folding of a specific sequence (II) Secondary structure of proteins 
of amino acids due to H-bonding 

(C) Fibrous proteins (III) Quaternary structure of proteins 
--- . 

(D) Spatial arrangemen~ of two or more (st, Tertiary structure of proteins 
polypeptide chains -· 

Choose the correct answer from the options giv~elow : 

(1) (A) - (I), (B) - (II), (C) - (III), (D) - (IV) {:} 

(2) (A) - (I), (B) - (III), (C) - (II), (D.) - (IV)~ @) 
(3) (A) - (I), (B) - (II), (C) - (IV), (D) - (III) <) 
( 4) (A) - (Ill), (B) - (IV), (C) - (I), (D)- (11) 

25. Match List-I with List-II: 

r 

-'II 

List-I List~~i -.. ~· 
(A) Tollen's reagent (I) Roch~e salt 

(B) Jones ~eagent (II) Conc~1'4Cl and ZnCl2 
fM' -(C) Lucas reagent (III) Amm~iacal silver nitrate 

(D) Fehling solution (IV) Chromium trioxide-sulphuric acid 

Choose the correct answer from· the options given below : 

(1) (A) - (III), (B) - (IV), (C) - (11),'(D) - (I),. Y-)-

(2) (A) - (IV), (8) - (III), (C) - (I), (D) - (II) 1 :g 
(3) (A) - (I), (B) - (IV), (C) - (II), (D) - (III) (§) 
(4) (A) - (III), (B) - (I), (C) - (IV), (D) - (II)" 0 

SPACE FO~OUGH WORK 
@) 

<l 
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26• Match L· . 

•st-I With List II 

( 8) 

r--- - . . 
List-I List-II 

r--

(A) Swarts Reaction (I) c H NH + NaNO2 + HX + Cu2X2 C6H5X + N2 

- 6 5 2 

(B) Finkelstein reaction (II) 2RX tJ:l,Na R - R + 2NaX 

(C) Sandmeyer's reaction 
~) 

(III) RX ~SgF R - F + AgX 
n~11 

... 

(D) Wurtz reaction (IV) RX +4,rkI R-I + NaX 
/··.., 

Choose the correct answer from the options giv@J>elow : 

( 1) (A) - (I), (B) - (II), ( C) - (III), (D) - (IV) ~/1 
·,~.,,,~~ 

I (2) {A) - (I), {B) - {III), (C) - (II); (D) - (IV) 

(3) (A) - (I), (B) - (II), (C) - (IV), (D) - (III) 

( 4) (A) - {III), (B) - (IV), (C) - (I), (D) - (II) 
{-/:'} 

27. Match List-I with List-Il : -. 

List-I List-ii) . 

(Biomolecule) (Fun~on/Diseases) 
,, \ 

{A) Vitamin A (I) 
""'~ 

Men~al cycle 

(B) Thiamine (II) Xerop~almia 

(C) Glucocorticoids (Ill) Beri-Beri 

{D) Estradiol (IV) Addison's disease 

,~lj 

Choose the correct answer from the options g1v~j>elow : 

(1) (A) - (III), (B) - (II), (C) - (I), (D) - (IV) (~) 

(A) - (II), (B) - (III), (C) - (I), (D) - (IV) (") 

(2) 
/·~ 

(3), (A) - (III), (B) - (II), (C) - (N), (D) - (I) ~;) 

(4) (A) - (II), (B) - (III), (C) - (IV), (D) - (I) <J 
SPACE FOR ROUGH WORK 

-----

-

I 
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28. In tbe following table, match the reactants given in List-I with the correct product in List-II as per 
the reaction of hydration of alkene under acidic condition. 

29. 

(A) 

(B) 

(C) 

(D) 

List-I 
(Re~ctants) 

{:} 
©) (II) 

<l 

od 
@) 

(Ill) 

0 (IV) 

0 

List-II 
(Products) 

HO 

HO 

HO 

A/ 
Choose the corrept answer from the options given be.)Sljw : 
(1) (A) - (Q, (B) - (II), (C) - (III), (D) - (IV) (A) - (1), (B) - (III), (C) - (II), (D) - (IV) 

(3) (A) - (II), (B) - (I), (C) - (IV), (D) - (Ill) ( 4) (A) - (Ill), (B) - (IV), (C) - (I), (D) - (Il) 

Which among the following is not an Analgesic ? 

( 1) Morphene 
(3) Codeine 

(2) Heroin I Ranitidine 

30. The increasing order of acidity of the following co 

(A) BrCH2COOH 

nds based on pKa values is 
) ClCH2COOH 

(C) FCf½COOH ) HCOOH 

Choose the correct answer from the options given b@w : ..--
( 1) (D) <(A)< (B) < (C) , (A)< (D) < (C) < (B) 
(3) (B) <(A)< (D) < (C) , ( 4) (C) < (B) < (D) < (A) 

SPACE FOR ROUGH WORK 



Fors 
N2 reactj 

( A) 
0 n, the in . ( IO ) 

Cl-{ creasin 

. . . . 

3CfI2C1-I Cl-J g 0rder of the reactivity of the £oJlowing alkyl hahdes 18 • 

(B) CfI 2 2Br 

3 CJ-I2 Cl-J(Br )CH 

(C) (CfI3)3CBr 
3 

(D) (CI-I3)2Cl-ICI-I2Br 

Choose the 
cotrect answer fr 

( 1) (A) < (B) om the options gi"1{il below : 

<(C)<(D) 

( 3 ) (B) <(A)< (D) < , Oi!f (2) (A)< (C) < (B) < (D) 

Read th 
(C) 

@ (4) (C) < (B) < (D) <(A). 

e f'olloWing passage and 8 

32. 

I 

33. 

34-

35. 

---

B 
answer the next fi questions based on it. 

atte.ry or cell converts ch . 

cell) th h . emica1 energy of th~dox reaction to electrical energy. In fuel cell (a galvanic 

e c em1cal en .c- . --"9T 
. · . 

ergy 0 .a. combustion of fu~ like H 2, ethanol, etc. are directly converted to electrica 

energy. In a fuel cell H 
<......_/ 

. 
' 2 and 02 react to produce electricity, where H 2 gas is oxidised at anode and oxyger 

JS reduced at catbode and the reactions involved are 

Anode reaction : H 2 + 2OH- 2H2o + 2e-

Cathode reaction : 0 2 + 2H2o + 4e-~ 4OH-

67 .2 L o£H2 at STP reacts in 15 minutes. oc1 
@) 

The number of moles of hydrogen oxidised is :g 
(l) 0.33 moles (2) 33.3 moles @) (3) 3.0 moles (4) 1.33 moles 

<1 
The number of moles of electrons produced in the oxidation 0£67.2 L o£H2 at S_TP is: 

(1) 2 m oles (2) 4 moles (3) 1 mole (4) 6 moles 

. £electricity produced in the oxi~n of67.2 L o£H2 at STP is: 

The quantity o 
olS 

9 6500 C
 (2) 579000 C o('J (3) 193000 c 

(1) 
@) 

(4) 48250 C 

_ t produced is used £or the eJG-odeposition of Silver (at.wt. 1 08 g m 1-1) fr . 

nttre curren . • {:} 
0 om Silver (1) 

Jf thee t £silver deposited wdl be. 
. 

. the amoun ° (§) 

s0Jut1on, (2) 648 g ,cL (3) 108 g (4) 216 g 

(1) 324 g 
SPACE FOR"'1:louGH WORK 

:-----

-
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36. The source of electrical energy on the Apollo moon flight was : 

(1) Lead storage battery (2) A generator set 
(3) Ni-Cd cells (4) H2-02 Fuel cell., 

Read the following passage and answer the next five questions based on it. 
Sc Ti V Cr Mn Fe Co Ni Cu Zn 
Y Zr Nb Mo Tc Ru Rh Pd Ag Cd . 
La Hf Ta W Re Os Ir Pt Afll Hg 
In any transition series, as we move from le~ right the d-orbitals are progressively filled and their 
properties vary accordingly. ~J) 
Ce Pr Nd Pm Sm Eu Gd Tb Dy Ho Tm Yb Lu 
Th Pa U Np Pu Am Cm Bk Cf Es fjn Md No L~ 
The above are the two series off-block elemen@i which the chemical properties won't change much. The 
5f-seri_es elements are radioactive in nature an~ostly are artificially synthesized in laboratories and thus 
much 1s not known about their chemical properties. 

37. Identify the inco"ect statement. , 

38. 

(1) Second ionisation enthalpy of Ag is greater than second jonisation enthalpy of Pd. 
(2) Zr and Hf shares almost identical nuclear pt))Perties. • 
(3) Melting point of Mn is lower than that ofO'IO 
( 4) . Interstitial compounds are non-stoichiom~ and neither ionic nor covalent in nature. 
Which of the following is the correct order of seed ionisation_ enthalpy ? 
(I) V>Cr>Mn (2) V<Cr<Mn• {:} (3) V<C_r>Mn., (4) V>Cr<Mn 

39. Which of the following pair of compounds exhi@ same colour in aqueous solution ? 
I 

40. 
I 

41. 

(1) FeCI2, CuC12 <:) (2) VOC~2, CuCI2 A 

(3) VOC12, FeC12 (4) VOCl2, MnCI2 
Which metal has the highest oxidation state in the first row transition series ? 
(1) Cr. . (2) Fe __ (3) Mn. • (4) V 
Why do the actinoids exhibit higher number of ldation states than lanthanoids ? 
(1) 4f orbitals are more diffused than the 5f o~ls. I • . 

(2) Energy difference between Sf and 6d is l~th respect to the energy difference between 4fand Sd. 
(3) Energy difference between Sf and 6d is mo with respect to the energy difference between 4f ~d Sd. 
( 4) Actinoids are more reactive in nature than . lanthanoids. 

SPACE Foi.iol!JGH ~ORK 
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42. 

! 

43. 

44. 

' 

45. 

Camphor in nitro . 
( 1) gen gas 1s a type of solution 

Gas-Gas 

( 12) 

(3) t· tquid-Gas 
(2) Solid - Gas 

• id (4) Solid- Liqu 

. I reaction : Identify th •n cbern1ca e correct order of organic compounds in the f ollowt g 

.l + Mg Dry Ether _? H20 > ? Cl2, > 

al$ (A} CH3MgBr 

(D) CH4 

@) 
0 
{} 
@) 

<1 
Choose the correct answer from the options given below : 

(1) (B), (A), (D), (C) (2) (A), (C), (B), (D) 

(3) (B), (A), (C), (D) (4) (C), (B), (D), (A) 
tfi-oa 

Consider the following statements regarding osmotic •sure : 
(A) Molar mass of a protein can be determined using@motic pressure method. 
(B) The osmotic pressure is proportional to the mola.Q. 

(C) Reverse osmosis occurs ,when a· pressure larger~ osmotic pressure is applied to the concentrated 
solution side. • • · @) 

(D) Edema occurs due to retention of water in tissue ~s as a result of osmosis. 
Choose the correct state1:11ents with reference to osmotic pressure : 

(l) (A), (B) and (D) only (2) (A), (B) and (C) only 

(3) (A), (B), (C) and (D) . {j,Y) (B), (C) and (D) only 

V ur pressures of pure liquids 'A' and 'D' at 50"C: 500 mm H apo , , • , , • o - g and 800 nun H . solution of A and D bods at 50 C and 700 @i Hg p g respectiv 1 The binary . . 0 ressure. The mole J>ercenta e y. 
solution 18 • ge of 'D' in the 

3 33 mole percent (2ft 66 67 1 (1) 3 • (8) • mo e percent 
75 mole percent ( 4 r: 7 5 25 I 25. • mo e percent 

SPACE FOR ROUG WORK 
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VI- ( 13) 

46. 

I 

47. 

/ 

48. 

For the following reaction : 
od 

1 
2A2 (g) + 

4 
X (g) 2A2X (g) 

@) 
..... 

(.,] 

volume is increased to double its value by ~}creasing the pres.sure it If the reaction· is first order with 
respect to X and second order with respect t~2, the rate of reaction will : 

(1) Decrease by eight times of its initial va~ 

{2) Increase by eight times of its initial value 

(3) Increase by four times of its initial value 
(4) Remain unchanged 

cc, 
The total number of sigma bonds present in~O 

10 
are : 

(I) 6, (2) 7 

(3) 16 {:} (4) 17 
. 

In the electrolysis of alumina to obttjn Al~ium metal, the cryolite is added mainly to ' . .:, , 
(I) lower the melting point of alumina. 

(2) dissolve the alumina in the molten cryolite. 

(3) remove the impurities of alumina. 

( 4) increase the electrical conductivity. . (rJ-

od 
49. Identify the order of reaction if its rate consijt is k = 2 x 1 o-2 s-1 . 

( 1) Zero order Q 
(2) First order {:} 

(3) Second order @) 
( 4) Half order <J 

SO. For a complex reaction, the order of reaction is equal to 

( 1) Sum of stoichiometric coefficients in balanced chemical reactiqn 

(2) The molecularity of overall reaction 

(3) Order of fastest step of the reaction 

( 4) The molecularity of slowest step of reaction 

SPACE FOR ROUGH WORK 
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